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QUESTION 1

Some NetBackup jobs are affected by the failure of a disk in an AdvancedDisk pool, but the jobs are unavailable to view
in the Activity Monitor. 

In which two places can the administrator view NetBackup jobs affected by the disk failure? (Choose two.) 

A. Media and Device Management > Device Monitor > Disk Pool 

B. NetBackup Management > Reports > Disk Reports > Disk Logs 

C. NetBackup Management > Reports > Disk Reports > Disk Pool Status 

D. NetBackup Management > Reports > Disk Reports > Disk Storage Unit Status 

E. NetBackup Management > Reports > Media Logs 

Correct Answer: BE 

Reference: https://www.veritas.com/support/en_US/article.000119038#v18660372 

 

QUESTION 2

Where in the Backup, Archive, and Restore interface on a Microsoft Windows Client would an administrator define the
source client for a restore job? 

A. Select for Restore > Restore from Normal Backup 

B. File > NetBackup Client Properties > General 

C. File > NetBackup Client Properties > Host Properties 

D. File > Specify NetBackup Machines and Policy Type 

Correct Answer: A 

 

QUESTION 3

An administrator is attempting to protect 500TB of Windows file system data in a 4-hour backup window, when the file
servers are idle. The daily change rate for the data is below 1%, and an Initial full backup has been performed to a high
performance disk array configured as an Advanced Disk storage unit. 

What can the administrator do to ensure subsequent backups complete within the backup window? 

A. configure NetBackup Accelerator 

B. configure multiplexing 

C. configure client-side deduplication 

D. configure Synthetic backups 
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Correct Answer: D 

 

QUESTION 4

The nbemmcmd -getemmserver command on a new NetBackup media server produces the error displayed below. 

Failed to initialize EMM connection. 

Which two steps are used to diagnose the issue? (Choose two.) 

A. Verify that the nbemm and pbx_exchange daemons/services are running on the master server. 

B. Telnet from the master server to the media server\\'s VNETD port. 

C. Verify that network access to the master server is available. 

D. Remove the media server name from the additional servers list on the master server. 

E. Run the bpclntcmd -hn command on the master server to confirm that the master server was able to resolve its own
hostname. 

Correct Answer: AC 

 

QUESTION 5

Backups to a storage device fail with the following error message: 

Disk storage server is down (2106) 

The storage server is an OpenStorage (OST) host, and the master server and media server are both acting as media
servers under Credentials > Storage Servers in the NetBackup Administration Console. The disk pool is in an Up state
and the storage server is in a Down state. Troubleshooting confirmed the OST plug-ins on the servers are mismatched. 

Which command should an administrator use to check the plug-in version installed on the servers? 

A. bpgetconfig 

B. nbemmcmd 

C. nbdevquery 

D. bpstsinfo 

Correct Answer: D 

 

QUESTION 6

Backup jobs end with the following series of messages in the Job Details: 
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Which process is failing to respond? 

A. nbjm 

B. nbemm 

C. bpdbm 

D. bpbrm 

Correct Answer: C 

 

QUESTION 7

A NetBackup environment with a single tape storage unit is experiencing performance issues when running full backups
of a Windows file server with over a million small files. Backups for all other clients on the same network are performing
adequately. 

What should the administrator modify to improve performance for the client? 

A. enable Windows Change Journal. 

B. modify data buffer settings for the data path. 

C. enable the Use Accelerator policy attribute. 

D. use Flashbackup-Windows policy type. 

Correct Answer: D 

 

QUESTION 8

Which action is performed by the NetBackup deduplication plug-in? 

A. writing data segments into the MSDP containers. 

B. processing MSDP transaction logs. 

C. performing file fingerprinting actions. 

D. performing queue processing. 

Correct Answer: A 

 

QUESTION 9
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Refer to the exhibit. 

Two media servers, sharing a library with 6 tape drives, exist in the NetBackup environment displayed in the exhibit.
Both weekly Full and daily Differential Incremental backups need to run for the clients and each schedule has a different
retention period. Because of network topology, some clients back up to Media server 1 and some back up to Media
server 2. The environment suffers from multiple status 96 failures during the backup window. 

How can the administrator minimize the number of failures? 

A. increase the "Media unmount delay" 

B. configure media multiplexing 

C. enable backups to span tape media 

D. enable media sharing 

Correct Answer: D 

 

QUESTION 10

An administrator has a backup policy with the following policy attributes: 

3 paths listed in the Backup Selections list 5 clients listed in the Clients list "Allow multiple data streams" is selected
"Limit jobs per policy" is set to 4 

How many jobs go Active when the job is started, excluding parent jobs, assuming there are enough storage resources
to handle the expected jobs? 

A. 3 

B. 4 
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C. 12 

D. 15 

Correct Answer: B 

 

QUESTION 11

Which statement is false about NetBackup deduplication? 

A. Deduplication can be performed at the disk block level. 

B. Fingerprinting of data can be performed on the server side as well as the client side. 

C. Deduplication uses a capacity-based license. 

D. Media server deduplication has only been available since NetBackup 7.0. 

Correct Answer: A 

Deduplication can be performed at the file and sub-file or segment level. 

 

QUESTION 12

In which scenario is \\'\\'Use Accelerator" unavailable in a backup policy? 

A. for VMware virtual machines with a Linux guest OS. 

B. for virtual machines hosted on a Hyper-V Host using WMI. 

C. for a NetApp NDMP filer. 

D. for an Exchange database availability group (DAG). 

Correct Answer: D 

 

QUESTION 13

Which configuration file should an administrator modify to seed the local fingerprint caching configuration on a
NetBackup MSDP client? 

A. spa.cfg 

B. pd.conf 

C. contentrouter.cfg 

D. agent.cfg 

Correct Answer: B 
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QUESTION 14

A backup image on tape is due to expire in one week. The administrator needs to keep the image available for restore
indefinitely. 

Which two methods can be used to accomplish this goal? (Choose two.) 

A. use the bpexpdate command to change the expiration date of the image 

B. use the bpretlevel command to customize the retention level 

C. use the bpmedia command to suspend the tape 

D. use the bpduplicate command to create a copy with an infinite retention 

E. use the vmchange command to set the tape to never expire 

Correct Answer: AD 

 

QUESTION 15

NetBackup commands can be used in UNIX shell or Windows batch scrips to perform reusable custom operations. 

A. False 

B. True 

Correct Answer: B 
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